w"M a"7 '0m R,AX naw .7"02

And Rabi Shimon renders it Toh’hoir - 7UR PYRR 92T

Overview
The X713 cited a Xn**72 regarding a 21 who was sitting on a bed and there were four
garments, one each, underneath the four legs of the bed. The a1on are Xnvn the
garments' while w"1 is 770, There is a dispute between >"w and mooIn as to why
W' 1s 70,
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“"'w explained that @' is 7701 because he follows his reasoning that »12° 198 77
DYDY IR 7T is MWD,

mooin disagrees with *"'wAa:
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And the X"23w9 does not see it that way, for by nav it is different, since the
Merciful one revealed that there is a 2105 to exempt %12 X 71 91 WwR 77 —

moon offers his interpretation why "9 is 27vn:
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And it is the view of mo01n that the reason w"" is 777v71 1s because it is necessary

that the majority of the weight of the 21 should be borne on each n"%uv -
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And so too it seems in '7 P9p 221 noo» where the 7w states, the 21 was in one

bowl of a balance scale and there was articles of 2w 235w in the opposite bowl,

the rule is -
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"' When a 27 lies or sits on something (this is referred to as 2w 25wn [or ©177]), anything underneath it which bears
the (full) weight of the a1 is &nv, even if it is many layers below the 21. Here too the garments bear the weight of the
21 via the bed and its legs.

291 77"72 (in the first v1°9).

3 See the top of this Ty, where w" maintains 2127 1°X 71 9157 1K 77 0wnY 1.

4 By the a1, neither leg can support the 21 without the other three legs; it is a case of 913° 1R 1M 127 WX 77, where by
naw each one is M5 (according to w"1) because he himself could not carry out this object; here too by 21, no leg can
bear the weight of the a1 alone, therefore his weight is not carried by any of the legs, so the legs and the on™ov
underneath the 21 are not bearing the full weight of the 27; it is not considered 2171 20wn. See footnote # 1.

3 w"1 derives the Mo of "X 711 >"X 71 from the 7nwY2 2109 which limits the liability by naw. If there were no such 03,
even ¥"1 would agree that >"X 71 *"X 771 would be 2°11. There is no such vy by 21 so therefore there should be nxnw
ar even where it is >"X 71 °"X 71, and the 2°n°%v should be xnv.

¢ This means articles which are used to sit on (like a seat cushion) or lie on (like a mattress). It is only on these types
of articles that the 0771 nXm W of a a1 is effective.
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If the 21 tipped the scale (he outweighed the 2w 210wn), the 2w 20wWn are PAmw,’
if the 2w m 2own tipped the scale (they outweighed the 2r) the 2w 20wWn are PR»Y,

however w''% maintains they are X»% only by a singular -
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The explanation of PXnv 712 is that the 20wn or 2w is XY only when there is
either one 25w% only or one 2w% only, however if there are many articles of 2o0wn

2w they are all 1917w, for not one of them is carrying the majority weight of the
ar.

Summary
W' is v, according to °"wA, because it is 9127 19K 1 7127 1°K 71, while according

to ModIN it is because the majority of the a7 is not supported by any one of the a°n°>v.

Thinking it over
1. What essentially is the difference between >"w75 and n1901n? They both seem to

be saying that the 0°n°2v are not v because they do not carry the full (major) weight
of the 1.’

2. According to M9 what would be the ruling, according to w"1 in 0°27 'on, if we
would maintain by 912> 1°X 11 915° 1R 77 that they are both 21?10

7 When the a1 outweighs them, the 2wy 25wn are not supporting the weight of the ar (on the contrary he is supporting
their weight; he is lifting them up [but not weighing them down]), however when the 2w 25wn outweigh the 21, they
are supporting him (as a bed or chair support the 27 [here too they are lifting him up]); this is a case of 217 077%.

8 If there is only one article of 2ow» or 2w wich outweighs the 21, the weight of the 27 is carried by this article;
however if there are two or more articles which outweigh the 21, each article is supporting less than the majority of
the s'ar weight; in order to be 2w 22wn Xnwvn, according to W', that article must support at least the majority of the
s'ar weight. Therefore by the bed since each of the legs supports only a quarter of the s'31 weight so the 21"t which
are beneath the legs cannot become 0771 &nv, for they do not support the majority of the 1.

? See mana MX.

10 See (w"x7 Moo and) NR NOW.

2
TofosInEnglish.com



